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<p><img src="https://Id246.com/images/img-loading.svg" alt="EasyCoding.jpg" data-src="h
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pg"></p>

<blockquote>

<p> RIFAImRIBNUIEHIZER —AIMARKSINSN. </p>

</blockquote>

<h2 id="gIg">8I5 </h2>

<p> AR T A B ABEERNIRIRERFISCEE N LEEEE, (FAXRFBENENREES—
. HUEEMSESRIERR. </p>

<p><strong>A&FIBFR</strong>: </p>

<ul>

<li><a href="https://Id246.com/forward?goto=https%3A%2F%2Fwww.yuanmo.xyz%2Fpost
2F0bdf0b10-c25b-11e9-9d06-1f20e5bd3f76%2F" target="_blank" rel="nofollow ugc"> (%3
=) FHEIC (—) - EEXYSRFPRIE</a></li>

<li><a href="https://Id246.com/forward?goto=https%3A%2F%2Fwww.yuanmo.xyz%?2Fpost
2Fb1acf8e0-c89b-11e9-9ee1-01379c6f9115%2F" target="_blank" rel="nofollow ugc"> (#3H
M) RFIEC (—)  HRNKRPRITTIE</a></li>

<li><a href="https://Id246.com/forward?goto=https%3A%2F%2Fwww.yuanmo.xyz%2Fpost
2F3239f2f0-c89d-11e9-89c4-bd64deffb20f%2F" target="_blank" rel="nofollow ugc"> (#3H
MY RHEIL (—) @ EENSFRIEMIIRR</a> </li>

<li><a href="https://Id246.com/forward?goto=https%3A%2F%2Fwww.yuanmo.xyz%?2Fpost
2Fd5aea070-d2ac-11e9-ab1f-f97e9fd39695%2F" target="_blank" rel="nofollow ugc"> {34
) RIIEIE (Z) : KEBKt&</a></li>

<li><a href="https://Id246.com/forward?goto=https%3A%2F%2Fwww.yuanmo.xyz%2Fpost
2F43892940-eb34-11e9-8e01-011debd967415%2F" target="_blank" rel="nofollow ugc"> {
HER) RIELC (=) . FESHE</a></li>

<li><a href="https://Id246.com/forward?goto=https%3A%2F%2Fwww.yuanmo.xyz%2Fpost
2F025b9630-626f-11ea-8f75-554d885c423a%2F" target="_blank" rel="nofollow ugc"> (&5
=) RFEC (M) . HEREHSESIER</a> </li>

<li><a href="https://Id246.com/forward?goto=https%3A%2F%2Fwww.yuanmo.xyz%2Fpost
2Fd6e37130-64cb-11ea-a19c-b3eaacf8ead9d%2F" target="_blank" rel="nofollow ugc"> (&g
=) FHEIC (W) - HRESESRIEAENZE </a> </li>

<li><a href="https://Id246.com/forward?goto=https%3A%2F%2Fwww.yuanmo.xyz%2Fpost
2F31c8add0-69af-11ea-ad58-59a2dd622848%2F" target="_blank" rel="nofollow ugc"> (&3
T%%Il)) RYZEIC (M) - JTEREAYEE</a> </li>

</ul>

<h2 id="#uREH" > HHRE I < /h2>

<p>Java PRNESAETHRFMES, TJLIEERAY, BALURESH. MESIEAEIREIRIEIR
ERBIEAREFNEENN, SMEREIESHIEI. </p>

<p><strong >RGNS </strong></p>

<ol>

<li>ZM85M: 0 = 1 NEFRIRTEZREY, J%MIF, SE—NETHERNERER, BRvEsh
ATERTTREREE—REZRIMIIE G, ZREW—MRA: <strong>lliFaR. &R, . P\FI</
trong>Z, Her<strong>#%, PAFI</strong>RiHA5ZMRAYEE, </li>

<li>tg5t: 0 & 1 NEZFIHH 0 £ <em>n</em> MNEEFHY (<em>n</em> XFETF 2)
BERER. RErEE, FUKBRRIMAR, </li>

<li>EZ51y: 0 & <em>n</em> NEFFIRMEZEFY (<em>n</em> XFEFETF 2) , 1%EKE
—hRH: <strong>EHE, ZEE, BAE. LHE</strong>%F, </li>

<li>IBHE0E. IREEERNHMEREH. 1ZEHEEEE EMSERINSSH RIS RS | SEERIEREX
3k, I%—WEJHZ&“SZ%HE%*HE”.%‘%E’\J%G*E%F& </li>

</ol>

<p><strong>8ZYE: </strong></p>
<p>HURENERES NI ASRENTASRERM, EAHBRFERENEATESE, HESEH
RATERFENRERE, </p>
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<p><strong>MAIERER—MEEITEMEENIEIR. BERAASH <em>0</em> FI— EEEL
R, tbIl <em>0</em>(<em>n</em><sup>3</sup>)FNEFHITIEBMAREZ M=
BERS, XEWRENEALI. </strong></p>

<p> NFEIMRIERBEESZEHIRFUT: BH <em>0</em>(1). 3#Kk <em>0</em>(log
em>n</em>). &g <em>0</em>(<em>n</em>), ZLEXELK <em>0</em>(<em>n</
m>log<em>n</em>), FHF%K <em>0</em>(<em>n</em><sup>2</sup>). I HFHk <em>
</em>(<em>n</em><sup>3</sup>), IBEK <em>0</em>(2<sup><em>n</em></sup>
. </p>

<h2 Iiod="§.’%é EZR" > EESTEZR </h2>

<p>Java PFRESRATEHENSNTESRSES, ST TR EIARMRAIXLAEUES, BT
RN AF R ERFIERNELANEREYE, 1t7 @ BESER ! </p>
<p>XBARMNIZB—K Java FEEZRER, NIEMZEAT LT ®. BRTY <code>Map</cod
> SBEEEME <code>collection</code> #[1, <code>Queue</code>, <code>List</code
. <code>Set</code> YR EHEME <code>collection</code> ##[, </p>

<h2 id="List-525" > List &6 </h2>

<p>Llist EERLMEIREINEELI, FMUAEEHNTRERRERH L—MIT— I TR, tBEFES
MIRE—1TTR. </p>

<p><code>Arraylist</code> BREA LM <strong>IEELIELEES </strong>, AERFEREEIE
1T, ¥ BNStIEEARIEAETE, AEBIBERIEIESFIZIFIEAS ., ZEEGIFUTR
BEXIAE], <strong>BASHIREERERE</strong>, EASKERENITE (84H) . </p>
<p><code>LinkedList</code> FIAREN AL, 5 <code>Arraylist</code> 1Y, A
PRAVIERE SR, (EEBEVIARAERERE, <code>LinkedLlist</code> 887 3 MNEEMKGR: siz
. first, last, size 2WEEERFTRENEL. first # last DEBHEAE —MIRE— NP RAIMA. <
p>

<h2 id="Queue-£5&">Queue £5</h2>

<p>SoHiH, —MIFHRIEMR, RAOFRE—Imt TABIRE, 8 —imHTENRE. 37 F
ToEAT, MA=PA%I. BM <code>BlockingQueue</code> (FEZEEPAF) [AHLASE, BAZIAYMEL
FRRAHEIRT, ARSMEHARENGSR, SFEWIEN Buffer (BUEEYKX) FRH. </p>

<h2 id="Map-£&">Map &£&</h2>

<p>Map 52 Key-Value SEXMEATFETTELIIIEH S, Key TRMIRHREGTERR
—fY, Value 2elLIESRI. </p>

<ul>

<li>eJLAER <code>keySet()</code> F5iEEEREM Key; </li>

<li>{#EH <code>values()</code> FiEEEREHRI Value; </li>

<li>fEf <code>entrySet()</code> FEEEBBRIEERT. </li>

</ul>

<p><code>Hashtable</code> EAMEERINEE 2K, NS ZFEFH <code>HashMap</c
de>, (BERLEALEN, KEDHMELA + $#4K, <code>ConcurrentHashMap</code> 2
BRELTEM, & JDK8 T 7 S KIEEMIL, RILT 8 BRUMteE. </p>
<p>ESEXEFENFZE S, HFHEFER <code>ConcurrentHashMap</code>, MARE <cod
>HashMap</code>, </p>

<p><code>TreeMap</code> £ Key B Map £ES, WEMIRIESR, Key ® 829 <code
null</code>, </p>

<p><code>LinkedHashMap</code> [EERHFREN, K5 <code>HashMap</code> BJLA
TTE=NERF. </p>

<h2 id="Set-5£&">Set E£5</h2>

<p>Set EAADTFHIMES TERHNES KT, Set ARXRFE YR <code>HashSet</code>, <cod
>TreeSet</code> # <code>LinkedHashSet</code> ={N&EFL, </p>
<p><code>HashSet</code> 5 <code>HashMap</code> &9, KRR Value EES—
g, FH Key (RIEESTENE—E, BEMRBEESTENINFE. </p>
<p><code>TreeSet</code> tBEUL, 5 <code>TreeMap</code> L, FEHFEEEENEEL
(BB, TTEAREA <code>null</code>, </p>

<p><code>LinkedHashSet</code> 4#%H <code>HashSet</code>, BEf <code>HashSet<
code> B, (FREMEREIR T TREANIIF. </p>
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<h2 id="EE&#Ialt" > E5¥RI</h2>

<p>& %JJ!I‘%J_.%JJT PEEE. REFESHFEXRIIE. </p>

jp>1§%¢¢#%ﬁiﬂ1ﬂ§ﬂ <code>Arraylist</code> E#IIRHHAIERES, FEETMIREESRE
71\ </p>

<h2 id="ArrayList-ZBRIBRHT" > ArrayList E85RASMET </h2>

<blockquote>

<p>APHITHNEEREEARRETZHE JDK11, MERAUAYFISE JDK8, TEAHIEAHH
JDK8 /g5, </p>

</blockquote>

<pre><code class="language-java highlight-chroma" > <span class="highlight-line"> <span c
ass="highlight-cl"> <span class="highlight-cm" > /**

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * Increases the capacity to ensure that it can hold at least the
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * number of elements specified by the minimum capacity argument.
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> *

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * @param minCapacity the desired minimum capacity
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> */</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-kd">private</span> <span class="highlight-kt">void</span> <span class="highlight-n
">grow</span><span class="highlight-o">(</span> <span class="highlight-kt">int</span>
<span class="highlight-n">minCapacity </span><span class="highlight-0">)</span> <span
lass="highlight-o">{</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-c1">// overflow-conscious code

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-c1"></span> <span class="highlight-kt">int</span> <span class="highlight-
">oldCapacity</span> <span class="highlight-o">=</span> <span class="highlight-n">ele
entData</span> <span class="highlight-o0">.</span> <span class="highlight-na">length</sp
n><span class="highlight-o">;</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-kt">int</span> <span class="highlight-n">newCapacity</span> <span class="highl
ght-o0">=</span> <span class="highlight-n">oldCapacity</span> <span class="highlight-o
>+</span> <span class="highlight-o0">(</span><span class="highlight-n">oldCapacity</s
an> <span class="highlight-o">&gt;&gt;</span> <span class="highlight-mi">1</span><sp
n class="highlight-0">);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl">  <span class="
ighlight-c1">// @

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-c1"></span> <span class="highlight-k">if</span> <span class="highlight-o
>(</span><span class="highlight-n">newCapacity</span> <span class="highlight-o">-</s
an> <span class="highlight-n">minCapacity </span> <span class="highlight-o">&lt;</span>
<span class="highlight-mi">0</span> <span class="highlight-o">)</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-n">newCapacity </span> <span class="highlight-o">=</span> <span class="highl
ght-n">minCapacity</span> <span class="highlight-o">;</span>

</span></span><span class="highlight-line"> <span class="highlight-cl">  <span class="
ighlight-c1">// @

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-c1"></span> <span class="highlight-k">if</span> <span class="highlight-o
>(</span> <span class="highlight-n">newCapacity</span> <span class="highlight-o0">-</s
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an> <span class="highlight-n">MAX ARRAY SIZE</span> <span class="highlight-o">&gt; <
span> <span class="highlight-mi">0</span> <span class="highlight-o0">)</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class=
highlight-n">newCapacity</span> <span class="highlight-o">=</span> <span class="highl
ght-n">hugeCapacity</span><span class="highlight-o">(</span> <span class="highlight-n
>minCapacity </span> <span class="highlight-o">);</span>

</span> </span><span class="highlight-line"> <span class="highlight-cl"> <span class="h
ghlight-c1">// minCapacity is usually close to size, so this is a win:
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-c1"></span> <span class="highlight-n">elementData</span> <span class="
ighlight-0">=</span> <span class="highlight-n">Arrays</span> <span class="highlight-o">
</span> <span class="highlight-na">copyOf</span> <span class="highlight-o">(</span><s
an class="highlight-n">elementData</span> <span class="highlight-o">,</span> <span clas
="highlight-n">newCapacity </span> <span class="highlight-o0">);</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-o0">}</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-kd">private</span> <span class="highlight-kd" >static</span> <span class="highlight-
t">int</span> <span class="highlight-nf">hugeCapacity </span> <span class="highlight-o">
</span><span class="highlight-kt">int</span> <span class="highlight-n">minCapacity</s
an><span class="highlight-0">)</span> <span class="highlight-o">{</span>
</span></span><span class="highlight-line"> <span class="highlight-c|"> <span class="hi
hlight-k">if</span> <span class="highlight-o">(</span><span class="highlight-n">minCap
city</span> <span class="highlight-o">&lt;</span> <span class="highlight-mi">0</span>
span class="highlight-0">)</span> <span class="highlight-c1">// overflow
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-c1"></span> <span class="highlight-k">throw</span> <span class="highlig
t-k">new</span> <span class="highlight-n">0OutOfMemoryError</span> <span class="highl
ght-0">();</span>

</span></span><span class="highlight-line" > <span class="highlight-cl"> <span class="hi
hlight-k">return</span> <span class="highlight-o">(</span><span class="highlight-n">mi
Capacity</span> <span class="highlight-o">&gt;</span> <span class="highlight-n">MAX_
RRAY SIZE</span> <span class="highlight-0">)</span> <span class="highlight-0">?</span

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="h

ghlight-n">Integer</span> <span class="highlight-o">.</span> <span class="highlight-na"

MAX VALUE</span> <span class="highlight-o">:</span>

</span> </span> <span class="highlight-line"> <span class=" highlight c">  <span class="

ighlight-n">MAX ARRAY SIZE</span><span class="highlight-0">;</span>

</span> </span> <span class="highlight-line"> <span class="highlight-cl"> <span class="high

ight-o">}</span>

</span></span></code> </pre>

<p>_birAA32 JDK8 FHRE, S <code>grow()</code> 73iER5EmMK,. ME JDK11 &,

BREMRLINZR <code>newCapacity()</code> J3iELM. </p>

<p|>§5‘6§*21|‘]ﬂ)§ﬁﬁn/|\ﬁ%@: </p>

<0l>

<li><code>oldCapacity</code>: ZEIBE, BTEN &7 AMLEEHIBTENE, </li>

<li><code>newCapacity</code>: ¥ BEHNEEX/); </li>

<li><code>minCapacity</code>: ¥ BRIN/NHER/IEXK! JRIBRE <code>size + 1</code
, BHERIRNEE + 1, </li>

</o|>

<ul>

<li> <strong>f+ABHET &? </strong>
<ul>
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<li>JDK8 RIERIER M 3k, BRNGIERS T ENETE., RFBEAEN 10, ZHE 11195t
BPiGIEA <code>add()</code> FFiARf</EaN <code>grow() </code> J5iEEaH BHHI, JDK11
EHE, </li>

</ul>

</li>

<li><strong>BIANBSEX/NEHA? </strong>
<ul>

<li> <strong >R BRI EEAKR/\</strong>, <strong>FPATERFTIA</strong>, <st
ong>ZBFEA/NHEILRE 0 MAZRIARY 10 Bi</strong>, JBHRNRETFEA/N, BBATEXRN
IREAYE. REZHEMA <code>add()</code> JiEAREI &, ZTHEIA <code>DEFAULT
CAPACITY = 10</code>, K/73 10, FTLAREIAIFIRUSEAXR/), A <code>add()</code>
ﬁfiﬁgiﬁﬁa‘%\ﬁﬁﬂ“ BIXHY, </li>

<li>

<pre><code class="language-java highlight-chroma"> <span class="highlight-line"> <span ¢
ass="highlight-cl"> <span class="highlight-n">List</span> <span class="highlight-o" > &lt; </
pan> <span class="highlight-n">String</span> <span class="highlight-o">&gt; </span> <sp
n class="highlight-n">list</span> <span class="highlight-o">=</span> <span class="highli
ht-k">new</span> <span class="highlight-n">ArrayList</span> <span class="highlight-o" >
It;&gt;();</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-n">Class</span><span class="highlight-o">&It;?&gt; </span> <span class="highlight-n
>listClazz</span> <span class="highlight-o">=</span> <span class="highlight-n">list</sp
n><span class="highlight-o0">.</span><span class="highlight-na">getClass</span> <span c
ass="highlight-o">();</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-n">Field</span> <span class="highlight-n">elementData</span> <span class="highlig
t-0">=</span> <span class="highlight-n">listClazz</span> <span class="highlight-0">.</s
an> <span class="highlight-na">getDeclaredField </span> <span class="highlight-o">(</spa
> <span class="highlight-s">"elementData" </span> <span class="highlight-o">);</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-n">elementData</span> <span class="highlight-o">.</span> <span class="highlight-na
>setAccessible</span> <span class="highlight-o">(</span><span class="highlight-kc">tru
</span> <span class="highlight-o">);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-n">0Object</span> <span class="highlight-o0">[]</span> <span class="highlight-n">obj
cts1</span> <span class="highlight-0">=</span> <span class="highlight-o">(</span><sp
n class="highlight-n">Object</span><span class="highlight-o">[])</span> <span class="hi
hlight-n">elementData</span> <span class="highlight-o0">.</span><span class="highlight-
a">get</span> <span class="highlight-o">(</span><span class="highlight-n">list</span> <
pan class="highlight-o">);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-n">System</span><span class="highlight-o0">.</span> <span class="highlight-na">ou
</span><span class="highlight-o">.</span> <span class="highlight-na">printin</span><s
an class="highlight-o">(</span> <span class="highlight-s">"R~EXEIIEK, BEA/NA: "<
span> <span class="highlight-o">+</span> <span class="highlight-n">objects1</span><s
an class="highlight-o">.</span> <span class="highlight-na">length</span> <span class="hi
hlight-o0">);</span>

</span></span></code> </pre>

</li>
<li>_ EiAEEHEIE <code>AREBHAIMAML, BEKR/NAG: 0</code></li>
<li>

<pre><code class="language-java highlight-chroma" > <span class="highlight-line"> <span c
ass="highlight-cl"> <span class="highlight-c1">// add—/Jt&
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
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s="highlight-c1"></span> <span class="highlight-n">list</span><span class="highlight-o" >
</span><span class="highlight-na">add </span> <span class="highlight-o">(</span><span
class="highlight-s" > "EIZR{80MFEME! "</span><span class="highlight-0">);</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-n">0Object</span> <span class="highlight-o">[]</span> <span class="highlight-n">obj
cts2</span> <span class="highlight-0">=</span> <span class="highlight-o">(</span><sp
n class="highlight-n">Object</span><span class="highlight-o">[])</span> <span class="hi
hlight-n">elementData</span> <span class="highlight-o">.</span><span class="highlight-
a">get</span><span class="highlight-o">(</span><span class="highlight-n">list</span> <
pan class="highlight-o">);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-n">System</span><span class="highlight-o0">.</span> <span class="highlight-na">ou
</span><span class="highlight-o">.</span> <span class="highlight-na">printin</span><s
an class="highlight-o0">(</span><span class="highlight-s">"ZIl—\t&, WESEX/NA:
</span> <span class="highlight-o">+</span> <span class="highlight-n">objects2</span>
span class="highlight-0">.</span> <span class="highlight-na">length</span><span class="
ighlight-0">);</span>

</span></span></code> </pre>

</li>

<lI>EERI—NITER, BTHE <code>FIl—MrTER, WESFEX/NA: 10</code> </li>

<li>

<pre><code class="language-java highlight-chroma" > <span class="highlight-line"> <span c
ass="highlight-cl"> <span class="highlight-n">List</span> <span class="highlight-o">&lt;</
pan> <span class="highlight-n">String</span> <span class="highlight-o">&gt;</span> <sp
n class="highlight-n">list2</span> <span class="highlight-o">=</span> <span class="highl
ght-k">new</span> <span class="highlight-n">ArrayList</span> <span class="highlight-o"
&lt;&gt;(</span><span class="highlight-mi">666</span> <span class="highlight-o0">);</sp
n>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-n">Class</span><span class="highlight-o">&It;?&gt; </span> <span class="highlight-n
>newlistClazz</span> <span class="highlight-0">=</span> <span class="highlight-n">list
</span><span class="highlight-o">.</span> <span class="highlight-na">getClass</span> <
pan class="highlight-o">();</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-n">Field</span> <span class="highlight-n">elementData2 </span> <span class="highli
ht-o">=</span> <span class="highlight-n">newListClazz</span> <span class="highlight-o"
.</span><span class="highlight-na">getDeclaredField </span><span class="highlight-0">(<
span> <span class="highlight-s">"elementData" </span> <span class="highlight-o">);</span

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-n">elementData2 </span><span class="highlight-o">.</span> <span class="highlight-n
">setAccessible</span><span class="highlight-0">(</span> <span class="highlight-kc">tru
</span><span class="highlight-o">);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-n">0bject</span><span class="highlight-o0">[]</span> <span class="highlight-n">obj
cts3</span> <span class="highlight-o">=</span> <span class="highlight-o">(</span><sp
n class="highlight-n">Object</span><span class="highlight-0">[])</span><span class="hi
hlight-n">elementData</span> <span class="highlight-0">.</span> <span class="highlight-
a">get</span><span class="highlight-o">(</span> <span class="highlight-n">list2</span>
span class="highlight-o">);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-n">System</span> <span class="highlight-0">.</span> <span class="highlight-na">ou
</span> <span class="highlight-o0">.</span> <span class="highlight-na">println</span><s
an class="highlight-o0">(</span><span class="highlight-s">"ER ¥ BT EX/ 666, TE
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INA: "</span> <span class="highlight-0">+</span> <span class="highlight-n">objects3</
pan><span class="highlight-o0">.</span> <span class="highlight-na">length</span> <span c
ass="highlight-o">);</span>

</span></span></code> </pre>

</li>

<li>BIAEUBEAX/NS 666, iETHEE <code>ERWBUBEKR/INN666, FEA/NA: 666<
code></li>

</ul>

</li>

<li> <strong>#faJ4 &? </strong>
<ul>

<li>JDK8 ZRIHJ BH/AS JDK8 BATAR, IRt LiATTIAE, <code>int newCapacity = oldC
pacity + (oldCapacity &igt&t, 1)</code> I SRS HA) HiABEITAHE — I LEER
ISR,

<ul>

<li>{#iz8: JDK8 hRAT (BFS) MEEMItE, [UBRIEREPRAMIAF . RIRFRR
B9 13, “HHIEE 1101, HpRiEHBE 1101, <strong>EHAIRIG., #MIEBEZRS </strong>
RiBEH—ALIXZ 110, BEIHHEA 6, FILEFTIESEXR/NA 6 + 13 =19, JDK7 ZRIHATUNZ
<code>oldCapacity * 1.5 + 1</code>; </li>

</ul>

</li>

<li>®: MERFHBENNCE/NERB/NE, WIRBRNEKIRE (size + 1) ; </li>

<li>@: WERHHWEFEAX/LL <code>MAX_ARRAY SIZE</code> EXHIE, HPZZEHIANG
code>Integer.MAX VALUE - 8</code> thgi@ 2<sup>31</sup>-1 B 8, EE <code>huge
apacity(int minCapacity) </code> FiF¥IfiRERE—NBEX/INTHEE OOM 7, </li>

</ul>

</li>

</ul>

<p>ZFTLAARFRFIEEEERE RN SEXR), Z2RARIZE 1000 MTEREEMEE Ar
ayList /, MITEERRHZ 13 RABTLATERk, EXISFEREHEREHREEERRIFRIEER

, GREBRAISE— I EENSEX/), HMEMERETT, LR 7T —%L OOM KX, OS: Xid
BEEREN, SLRFFEPRENEA ArrayList EWEIEXFDAIRIE, BFERZHSEE. </p>
<blockquote>

<p>I8? | BkiXTF ArrayList RURTLABIRH—RM, </p>

</blockquote>

<h2 id="HashMap-&3 53 ERS#EHT" > HashMap &B5IRAS AT </h2>

<blockquote>

<p> ABOITHNEERLEARRT RN JDK11, MERAHIRIEE JDK8, TEAHIRAHEH
JDK8 j&f8, </p>

</blockquote>

<pre><code class="language-java highlight-chroma"> <span class="highlight-line"><span ¢
ass="highlight-cl"> <span class="highlight-cm" > /**

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * The default initial capacity - MUST be a power of two.
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> */</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-kd">static</span> <span class="highlight-kd" >final</span> <span class="highlight-kt
>int</span> <span class="highlight-n">DEFAULT _INITIAL CAPACITY</span> <span class="h
ghlight-0">=</span> <span class="highlight-mi">1</span> <span class="highlight-o"> &It
&lt;</span> <span class="highlight-mi">4</span> <span class="highlight-0">;</span> <sp
n class="highlight-c1">// aka 16

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-c1"></span>
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</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-cm">/**

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * The maximum capacity, used if a higher value is implicitly specified
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * by either of the constructors with arguments.
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * MUST be a power of two &lt;= 1&It;&lt;30.
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> */</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-kd">static</span> <span class="highlight-kd" >final</span> <span class="highlight-kt
>int</span> <span class="highlight-n">MAXIMUM_CAPACITY </span> <span class="highli
ht-0">=</span> <span class="highlight-mi">1</span> <span class="highlight-o" > &lt;&It; <
span> <span class="highlight-mi">30</span><span class="highlight-o">;</span>
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-cm" > /**

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * The load factor used when none specified in constructor.
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> */</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-kd">static</span> <span class="highlight-kd" >final</span> <span class="highlight-kt
>float</span> <span class="highlight-n">DEFAULT LOAD FACTOR</span> <span class="hi
hlight-o">=</span> <span class="highlight-mf">0.75f</span> <span class="highlight-o0">;<
span>

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high

ight-cm" > /* -----mmmmmmmme - Fields -------------- */</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-cm">/**

</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * The table, initialized on first use, and resized as
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * necessary. When allocated, length is always a power of two.
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * (We also tolerate length zero in some operations to allow
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> * bootstrapping mechanics that are currently not needed.)
</span></span></span><span class="highlight-line"> <span class="highlight-cl"> <span cla
s="highlight-cm"> */</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-kd">transient</span> <span class="highlight-n">Node</span> <span class="highlight
0">&lt;</span><span class="highlight-n">K</span> <span class="highlight-o">,</span><s
an class="highlight-n">V</span> <span class="highlight-o">&gt;[] </span> <span class="hi
hlight-n">table</span><span class="highlight-o">;</span>

</span></span></code> </pre>

<ul>

<li><code>DEFAULT INITIAL CAPACITY</code>: BRAVISAEE <code>1 &lt;&lt; 4</code>
aka 16, WJIE 2<sup>n</sup>%&, THEREBNESE, FILUMRRMEEAHRNTEXEFS <co
e>new HashMap&lt;&gt;(3);</code>, SCFr EHSIREL 2<sup>2</sup>, tt 3 KEEIFAI—
2 BRI </li>

<li><code>MAXIMUM CAPACITY</code>: RBEA/, ENIA <code>1 &lt;&lt; 30</code
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, T 2<sup>30</sup>; </li>

<li><code>DEFAULT LOAD FACTOR</code>: fa#iEF, thIUEFLLGI, BRIA 0.75, FITEH]

HWITEPBETE— float ZEBHIEUE, </li>

<li><code>table</code>: </li>

</ul>

<p>HashMap #0 ArrayList —#, FEFREME new HIFHMRSES, MREEFE—IX <code>put</code
AOAHE, </p>

<p><code>put</code>, <code>putVal()</code>, <code>reszie()</code> FFiEELLHEE

AN B3R, RZ4T5, older man: BSLEREAREH. XEEMEE <code>threshold</c

de> {ERIRFERZ <code>loadfactory</code> (fazkA+F) #0 <code>capacity</code> (&
) BISRFA. BRRIREGABR T, 2 HashMap FtEN AR TBEN 3/4 RS SHITERY

. </p>

<ul>

<li><strong> AHAREHREFZ 0.75? </strong>
<ul>

<li>)JDK/RBEXHE, —EREiEE, XEAKXEERR. ERMN IS, MRHRRERA
R, UR—EHEFHE. log2, MHZXIE—EXR, RE—RABEEBECERER vans 7. </li

</ul>
</li>
<li><strong>f+ARHEY &? </strong>
<ul>

<li>F0 ArrayList —#F, B|TENMGFRETSHK &, MEY SHIEEFSENTERETENRE
B, ¥ BRFMEIXE]T <code>threshold</code> XMN&#, MER <code>capacity</code>
M <code>loadfactory</code> RISRIR, FTLAFR(IRTLUBISRSSRIGIE—T: </Ii>
<li>
<pre><code class="language-java highlight-chroma" > <span class="highlight-line"> <span c
ass="highlight-cl"> <span class="highlight-n">Map </span> <span class="highlight-o" > &lt; <
span> <span class="highlight-n">String</span> <span class="highlight-0">,</span> <span c
ass="highlight-n">String</span> <span class="highlight-o">&gt;</span> <span class="high
ight-n">map</span> <span class="highlight-o">=</span> <span class="highlight-k">new
/span> <span class="highlight-n">HashMap</span> <span class="highlight-o">&It;&gt;(</
pan> <span class="highlight-mi">0</span><span class="highlight-0">);</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-n">Class</span><span class="highlight-o" > &It;?&gt; </span> <span class="highlight-n
>mapClazz</span> <span class="highlight-0">=</span> <span class="highlight-n">map</
pan><span class="highlight-o">.</span> <span class="highlight-na">getClass</span> <spa
class="highlight-o0">();</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-n">Method </span> <span class="highlight-n">capacity</span> <span class="highligh
-0">=</span> <span class="highlight-n">mapClazz</span> <span class="highlight-0">.</s
an><span class="highlight-na">getDeclaredMethod </span> <span class="highlight-o">(</s
an><span class="highlight-s">"capacity" </span> <span class="highlight-o">);</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-n">capacity </span> <span class="highlight-0">.</span> <span class="highlight-na">se
Accessible</span> <span class="highlight-o">(</span> <span class="highlight-kc">true</sp
n><span class="highlight-o0">);</span>
</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-n">System</span> <span class="highlight-0">.</span> <span class="highlight-na">ou
</span><span class="highlight-o">.</span> <span class="highlight-na">printin</span><s
an class="highlight-o0">(</span><span class="highlight-s">"&&X/\/: "</span> <span cl
ss="highlight-0">+</span> <span class="highlight-n">capacity </span> <span class="highli
ht-0">.</span> <span class="highlight-na">invoke</span> <span class="highlight-o">(</sp
n><span class="highlight-n">map</span> <span class="highlight-o">)); </span>
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</span></span></code></pre>

</li>
<li>#H <code>BFEANA: 1</code>, EHE 2<sup>0</sup></li>
<li>

<pre><code class="language-java highlight-chroma"> <span class="highlight-line"><span ¢
ass="highlight-cl"> <span class="highlight-n">map</span> <span class="highlight-o">.</sp
n><span class="highlight-na">put</span><span class="highlight-o">(</span> <span class
"highlight-s">"MatthewHan" </span> <span class="highlight-o0">,</span> <span class="high
ight-s">"developer"</span> <span class="highlight-o">);</span>

</span></span><span class="highlight-line"> <span class="highlight-cl"> <span class="high
ight-n">System</span> <span class="highlight-0">.</span> <span class="highlight-na">ou
</span><span class="highlight-o">.</span> <span class="highlight-na">printin</span><s
an class="highlight-o">(</span> <span class="highlight-s">"&II— M t&E, B2A/MNA: "<
span> <span class="highlight-o">+</span> <span class="highlight-n">capacity </span> <s
an class="highlight-o">.</span> <span class="highlight-na">invoke</span><span class="hi
hlight-o">(</span> <span class="highlight-n">map</span> <span class="highlight-0">)); </
pan>

</span></span></code> </pre>

</li>

<li>put —NTEZE, BE <code>capacity</code> KHIANN, HiH <code>RIl—NTER
BEA/NA: 2</code>, AHAFZE 1, HF <code>capacity</code> F] <code>loadfactor
</code> HUFFIE <code>0.75 * 1 &lt; 1</code>, HEY BHIEME. FTLAM 2<sup>0</sup>
BT 2<sup>1</sup>, HARXHEE <code>new HashMap&lt;&gt;(0, 1f);</code> HiHAY
217, </li>

</ul>

</li>

<li> <strong>LIRIEZTRI—ERAEINA: WWER— HashMap E2<z, 100 1T, BBALNIRL
EXNRRERE? </strong>

<ul>

<li>REFRIKRN, —ERBEASZXYT BEA <code>resize()</code> 73iEH. FLAME—ER
F <code>100 + 0.75 = 133.333...</code>, LIZEKB&RERIR 2<sup>n</sup>fIE 2<sup>
</sup> = 256, i 2<sup>7</sup> = 128 HiEEKtlL 100 X, (EEFEZY 5—R, £HEMT
IEHREE, BX ®17. LESTHrdiEMEiERKITiz AT=SE, BakitE. </l
<li>EFTLUXEE <code>new HashMap&lt;&gt;(128, 0.79f);</code> {BE—RAESHE i E
AYE, 1ZITEERRIARAD, </li>

</ul>

</li>

</ul>
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